RD SHARMA
Solutions
Class 7 Maths

Chapter g
Ex 8.2



Ql.x-3=5

SOLUTION :

x—=3=5

Adding 3 to both sides, we get
x—-3+3=5+3

x=8

Verification :

Substituting x = 8 in LHS, we get
LHS =x-3 and RHS =5
LHS=8-3=5and RHS =5
LHS =RHS

Hence, verified.

Q2.x+9=13

SOLUTION :

x+9=13

Subtracting 9 from both sides, we get
=x+9-9=13-9

=>x=4

Verification :

Substituting x =4 on LHS, we get
LHS=4+9=13=RHS

LHS =RHS

Hence, verified.

3 _17
Q3. x— =3
SOLUTION :

57
=373

Adding 3/5 to both sides, we get

3

7
X 573

= x=2
Verification :
Substituting x =2 in LHS, we get

LHS=2-1=10-3 =2 andRHS = 1

w] v
[V %)

LHS =RHS

Hence, verified.

Q4.3x=0
SOLUTION :
3x=0

Dividing both sides by 3, we get

wl g
wlo



Verification :
Substituting x =0 in LHS = 3x, we get LHS =3 X 0=0and RHS =0
LHS =RHS

Hence, verified.

X _
QS.?—(D
SOLUTION :
X _

7—0

Multiplying both sides by 2, we get

—~ X _
_>7><2 0x2

=x=0

Verification :

Substituting x= 0 in LHS, we get
0

LHS =3 =0and RHS =0

LHS=0and RHS=0
LHS =RHS

Hence, verified.

1_2
Q6.x—x=%

SOLUTION :

Verification :
Substituting x= 1 in LHS, we get

LHs=1-4 =21~ 2 angrus=2

LHS =RHS

Hence, verified.

1 _
Q7.x+?—

YR

SOLUTION :

Xt3-37373

x=Z1_L1_6
27272

x=3

Verification :

Substituting x = 3 in LHS, we get LHS =3 + 4 = 6;—‘ =72 and RHS =72

1
2

LHS =RHS



Hence, verified.

Q8.10-y=6
SOLUTION :
10-y=6

Subtracting 10 from both sides, we get
10-y—-10=6-10

sy =-4

Multiplying both sides by -1, we get

sy X-l=-4 X-1
y=4
Verification :

Substituting y =4 in LHS, we get
LHS=10-y=10-4=6and RHS=6
LHS =RHS

Hence, verified.

Q9.7 +4y=-5

SOLUTION :

T+4y=-5

Subtracting 7 from both sides, we get
THdy—T7=-5-7

4y =-12

Dividing both sides by 4, we get

y=-12/4
y=-3
Verification :

Substituting y =-3 in LHS, we get
LHS=7+4y=7+4(-3)=7-12=-5,and RHS =-5
LHS =RHS

Hence, verified.

3

4 -
Q0. =-x=3

SOLUTION :

|

"

I

|
[V 1=

Multiplying both sides by -1, we get

KX (1)==g X (1)

[

x=
Verification :

Substituting x= % in LHS, we get



LHS =RHS

Hence, verified.

1 1
Qll.2y—7=-7

SOLUTION :

1 _ 1
-3=-3

Adding % to both sides, we get

1_ 1 4,1
-3ty =3 t3
243
2y = 3
_ 1
2y—€

Dividing both sides by 2, we get
2y/2=16/2

=L
12

Verification :

Substituting y = % in LHS, we get

=L
LHS =235 -

N~

1
2
LHS =RHS

Hence, verified.

QI2.14= 2 _8
SOLUTION :

14=25 8

Adding 8 to both sides, we get
14+8=T%_8+8

_Ix
22—10

Multiplying both sides by 10, we get
-
22x 10=-5 %10

220="7x

Dividing both sides by 7, we get

Verification:

Substituting x = %O in RHS, we get

220
LHS =14 and RHS = —— 10 -8 =

10

20
10

LHS =RHS

Hence, verified.

Q13.3(x+2)=15
SOLUTION :

=
=N
2|

-8=22-8=14



3(x+2)=15

Dividing both sides by 3, we get

3(x+2) 15
3 3

(x+2)=5

Subtracting 2 from both sides, we get
x+2-2=5-2

x=3

Verification :

Substituting x = 3 in LHS, we get

LHS =3 (x +2)=3(3+2)=3(5)=15,and RHS = 15
LHS =RHS

Hence, verified.

X _— 7
Q4. 2=¢
SOLUTION :
X _ 7
73

Multiplying both sides by 4, we get

Xx4=7x
1 4 3 4

X =

[N ]

Verification :

Substituting x = % in LHS, we get
—Iy=1 -z

LHS = 2/4 8,andRHS 3

LHS =RHS

Hence, verified.

QI15. = -2x=0

W=

SOLUTION :

1 —

3 - 2x =0

Subtracting % from both sides, we get

1 1 _
3 —2x—§ =0-

W=

-2x = —%
Multiplying both sides by -1, we get

XX (1)=-2 % (1)
2x=%

Dividing both sides by 2, we get sz = %/2
=1

=%

Verification :

Substituting x = % in LHS, we get

_ 1 1 _ 1 1 _ —
LHS—?—Z>< 53" ?—O,andRHS—O

LHS =RHS

Hence, verified.



Q16. 3(x + 6) = 24
SOLUTION :
3(x+6)=24

Dividing both sides by 3, we get

3(xt6) 24
3 3
(x+6)= 8

Subtracting 6 from both sides, we get
X+6-6=8-6

x=2

Verification :

Substituting x =2 in LHS , we get
LHS=3(x+6)=3(2+6) =24 ,and RHS =24
LHS =RHS

Hence, verified.

QI7.3(x+2)2(x—1)=7
SOLUTION :
3(x+2)-2x-1)=7

On expanding the brackets, we get
3Xx+3X 2-2Xx+2x1=7
3x+6-2x+2=7
3x-2x+6+2=7

x+8=7

Subtracting 8 from both sides, we get
x+8-8=7-8

x=-1

Verification :

Substituting x =-1 in LHS, we get
LHS =3 (x+2)-2(x-1)=3 (-1 +2)-2(-1-1) =(3%1) = (2%-2)=3+4=7,and RHS =7
LHS =RHS

Hence, verified .

Q18. 8(2x —5)-6(3x—-7) =1
SOLUTION :
8(2x—-5)-6(3x-7)=1

On expanding the brackets, we get (8X2x) — (8 X 5) — (6 X 3x) + (-6) X(-7) =1
16x—40—-18x+42=1
16x—18x+42-40=1

2x+2=1

Subtracting 2 from both sides, we get
2x+2-2=1-2

2x =-1

Multiplying both sides by -1, we get
2X X (1) =-1% (-1)

2x=1

Dividing both sides by 2, we get



Nl{}’
o]

=

x=
Verification :

Substituting x = % in LHS, we get

=82 3-5)-63%x3-7)

=8(1-5)-6(32-7)

= 8% (-4)— (6 X 32) H6 X T)=-32-9 +42 =41 + 42 = | =RHS
LHS = RHS

Hence, verified .

Q19. 6(1 —4x)+7(2 +5x) =53

SOLUTION :

6(1 —4x)+7(2 +5x)=53

On expanding the brackets, we get (6X1)— (6 X 4x) + (7 X2) + (7X5x) =53
6—24x+ 14+ 35x =53

6+14+35x—24x =53

20+ 11x=53

Subtracting 20 from both sides, we get 20 + 11x —20 =53 -20

11x=33

Dividing both sides by 11, we get

x 3
11 11

x=3

Verification :

Substituting x = 3 in LHS, we get
=6(1—4%3)+7(2+5%3)
=6(1-12)+7Q2 +15)

6(-11) +7(17)
=66+ 119
=53 =RHS
LHS = RHS

Hence, verified.

Q20. 52 -3x)-172x - 5) =16

SOLUTION :

5(2-3x)-17(2x-5)=16

On expanding the brackets , we get (5%2) — (5 X 3x)— (17 X2x )+ (17X5) =16
10-15x—-34x+85=16

10 +85-34x—15x =16

95-49x =16

Subtracting 95 from both sides, we get —49x + 95 —-95=16-95

-49x =-79

Dividing both sides by -49, we get

—49x _ =79
—49 49
=D

o

Verification :



Substituting x = Z—g in LHS, we get

_ 79 79

=5(2-3x% E)_ 17(2% bl -3)

— 79 79
=(5%2)—(5 % 3% el )- (17 x2% Tl )H(17%5)

—j0_ i85 _ 268 . o5

49 49
_ 490-1185-2686+4165 _ 784 _ . _
LHS =RHS

Hence, verified.

Q. X2 2=

SOLUTION :
X—3 _
5 -2=-1

Adding 2 to both sides, we get

22 +2=-142

Multiplying both sides by 5, we get

X3

5

X5=1x%5

x—3=5

Adding 3 to both sides, we get
X—=3+3=543

x=8

Verification :

Substituting x = 8 in LHS, we get

_83 _5 _ — 1=
=8 0=2 2=1-2=-1=RuS

Hence, verified.

Q22.5(x—2)+3(x + 1) =25
SOLUTION :
S5(x=2)+3(x+1)=25

On expanding the brackets, we get
(5Xx)=(5%2)+3%x x+3x1=25
S5x—10+3x+3=25
Sx+3x—-10+3=25

8x—-7=25

Adding 7 to both sides, we get
8x—-T7+7=25+7

8x =32

Dividing both sides by 8, we get

®

X 32
8

==
x=4

Verification :

Substituting x=4 in LHS, we get
=54-2)+34+1)=52)+3(5)=10+15=25=RHS



LHS =RHS

Hence, verified.



